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Multiple Choices 
Q.No. 1 2 3 4 5 6 7 8 9 10 

{a,b,c,d}           
Q.No:1 The sum 

)(
)tan(

0 xSin
xxLim

x

−
→

is equal to: 

 (a) 0  (b) ∞     (c) -1  (d) None of these. 

Q.No:2   The integral  ∫
1

0

dxxex  is equal to  

 (a) 1, (b) 1− ,  (c) 0,  (d) Note of these. 

Q.No:3   ∫
2

1
2

)ln( dx
x

x is equal to      

 (a) )2ln(
2
1

2
1
−  (b)  

2
1)2ln(

2
1

− ,     (c) )2ln(2 −  (d) None of these. 

Q.No:4  The substitution θSecx 3=  transforms dx
x∫

− 9
1
2

 into 

 (a) ∫ θθdSec  (b) ∫ θθdSec3  (c) ∫ θθdtan     (d) None of these. 

Q.No:5   To evaluate the the integral  ∫ +
− dx

x
x

1
1

32

23

 we put 

 (a) 61xu = , (b) 21xu =  , (c)  31xu = ,      (d) None of these. 

Q .No:6  The partial fractions for solving the integral ∫ −
dx

xx )1(
1
22  are 

(a)  
122 −

+
+

x
cBx

x
A , (b)

)1()1(2 −
+

+
+

x
C

x
B

x
A , (c) 

)1()1(2 −
+

+
++

x
D

x
C

x
B

x
A , (d) None of these. 

Q.No:7  The integral   dx
x∫

∞

+0 3
1 , is equal to  

 (a)  ∞ ,  (b)  ∞− ,   (c)  0,  (d) None of these. 

Q.No:8 To solve the integral ∫ +−
dx

xx 2210
1  we use   

(a) Completing the square,(b)Partial fractions,    (c) Integration by parts, (d) None of these. 

Q.No:9 The substitution ⎟
⎠
⎞

⎜
⎝
⎛=

2
tan xu  transforms the integral ∫ +

dx
Sinx1
1  into 

  (a)
( )

du
u∫ + 21

2 ,  (b)  
( )

du
u∫ − 21

2 ,  (c) 
( )

du
u∫ + 21

1  (d) None of these. 

Q.No:10 The value of the integral dxxxSec∫ 4tan  is equal to 

(a) cxx
+

+
4

tantan2 42

,  (b)  cxx ++
4

tantan
2

2 ,  (c) cxSec
+

4

4

(d) None of these. 



 
Question No: 11 Find the   20

)3()4(
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−
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  if it exists. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Question No: 12 Evaluate the integral 
( )

dx
x

x
∫

− 2
12

2

4
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

Question No: 13 Evaluate the integral   ∫ −−
+−− dx

xx
xxx
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51542

2

23

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Question No: 14 Evaluate the integral dxx∫
−

1

0

3
1

 



 



 


